
bijections! n stuff.

(they also want you to use some calculus...)

here's a croissant. i am hungry.

Every polynomial of odd degree is surjective.* Intuitively, polynomials of odd degree "span" the 

whole y axis; every horizontal line has to intersect the graph somewhere.

Polynomials of even degree from R to [0, infinity) need not be surjective. Take p(x) = x^2 + 1 for 

example: this never reaches 0 (which is in the codomain), so this isn't surjective.

Formal proof of * using the intermediate value theorem (IVT):
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